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are compounds that have at least one benzene ring in their structures

aromatic hydrocarbons
carboxylic acids
isomers

cycloalkanes




Question No. 20

Give the IUPAC name for the following organic compound.

2,3-dimethylpentane
2-ethyl-3-methyl-2-butene
2 3-dimethyl-2-pentene

3. 4-dimethyl-3-pentene



What is the family of the following organic compound?

O

carboxylic acids
esters
aldehydes
ketones



Which of the following pairs 1s NOT a conjugate acid-base pair?

H:S04/S0*
H,SOyHSO,
H,O/OH
HSO, /SO,




What is the effect of imcreasing the temperature on the following exothermic

reaction?
CaOw + H:Om # Ca(OH):¢v + heat

no effect will be observed
the concentration of Ca(OH): will decrease

the reaction will shift forward
the reaction will shift reverse



What is the common name of the following compound?
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Phenol
Aniline
Toluene
Benzene



Choose the correct systematic name for the following compound
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3 4-dimethylpentane
4-ethy-3-methylpentane
3. 4-dimethylhexane
2-ethy-3-methylpentane




To which organic families do the two following compounds belong, respectively?
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amide and carboxylic acid
amide and ester
amine and carboxylic acid
amine and ester




Question No. 19

The general formula for alkenes is ...

CaH2a-2
CoHa
CaH2n
CaH2a-2



Question No. 8

Choose the correct name of the following alcohol and its class

S-methyl-2-hexanol, tertiary alcohol
2-methyl-5-hexanol, secondary alcohol
5-methyl-2-hexanol; secondary aicohol
S-methyl-2-hexanol, primary alcohol



Question No. 4

The compound HF 1s

an ionic compound
a weak acd

a strong acid

a weak base




Question No. 6

Calculate is the pH of a solution that has [H30*] =4.16 x 10 M.

3
2.38
416
11.62




Choose the correct systematic name for the following compound:

I~

1-ethyl-3-methylcyclobutane

1-ethyl-4-methylcyclopentane
3-ethyl-1-methylicyclopentane
1-ethyl-3-methyicyclopentane



What is the [OH"] in a solution that has a [H30*] = 1.0 x 10 M?

1.0x 10°M
10x 10 M
1.0x10°M
1.0x 10¢M




Choose the correct expression for equilibrium constant, K, for

the following reaction:
2POClag = 2PClig + O

~ [poct,)
‘T [PCl5)[0,]
o - LPOChP
“@ 7 [PCL)? [0,)
K = [PCL4)(0,)
*«« = “[PoCl,)

o [PCL4)? (0,)
@« = “[poch,]?




Which of the following suffixes refers to an organic compound that includes a C=C?

one
yne
ane




Question No. 9

Which of the following Is a Lewis acid?

£
HO

NH;
CO;



Give the IUPAC name for the following organic compound

3-ethyl-1-hexene
3-heptene
2-ethyl-1-pentene
2-methyl-3-hexene



Choose the correct systematic name for the following compound



Question No. 7

Give the IUPAC name for the following organic compound:

5-methyl-2-hexyne

3-methyl-1-pentyne
S-methyl-2-heptyne
3-methyl-5-heptyne



